
Installation Instructions

No portion of this document or any artwork contained herein should be reproduced in any way without the express written consent of Atdec Pty Ltd.
Due to the continuing product development, the manufacturer reserves the right to alter specifications without notice. Published 17.08.12 ©

iPad® is a trademark of Apple Computer, Inc, registered in the U.S. and other countries.

iPad
®

 Mount

 

Step 2a. Attach iPad® mount to ATDEC Focus Range 

Step 1. Check Components

Component Checklist

Step 2b. Attach iPad®  mount to ATDEC Spacedec QR 
VESA Plate

Step 3. Attach iPad® to iPad® Mount 

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

A4
DWG NO.

DATE:    

DRAWN:         

65 7

SCALE: NTS

SHEET: 1 OF 1

ISSUE DATE REVISION BY

REV A         00.00.00                  

ACAPIP23-

17/08/2012

richard

-                  -

TITLE:

PART NO:

PROPRIETARY AND CONFIDENTIAL
THIS DOCUMENT REMAINS THE PROPERTY OF ATDEC PTY. LTD.
AND MUST NOT BE COPIED WITHOUT OUR EXPRESS WRITTEN 

PERMISSION AND THE CONTENTS THEREOF MUST NOT BE
IMPARTED TO ANY THIRD PARTY NOR BE USED FOR ANY

UNAUTHORISED PURPOSE.

ALL DIMENSIONS IN MILLIMETRES

DO NOT SCALE

ACAPIP23

ATDEC Pty. Ltd.
Level 1, 26 Castlereagh St
Liverpool  NSW 2200

Tel:  +61 2 8729 5000  
Fax: +61 2 8729 5050
www.atdec.com

-

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

A4
DWG NO.

DATE:    

DRAWN:         

65 7

SCALE: NTS

SHEET: 1 OF 1

ISSUE DATE REVISION BY

REV A         00.00.00                  

FWS-005-

17/08/2012

mark

-                  -

TITLE:

PART NO:

PROPRIETARY AND CONFIDENTIAL
THIS DOCUMENT REMAINS THE PROPERTY OF ATDEC PTY. LTD.
AND MUST NOT BE COPIED WITHOUT OUR EXPRESS WRITTEN 

PERMISSION AND THE CONTENTS THEREOF MUST NOT BE
IMPARTED TO ANY THIRD PARTY NOR BE USED FOR ANY

UNAUTHORISED PURPOSE.

ALL DIMENSIONS IN MILLIMETRES

DO NOT SCALE

FWS-005

ATDEC Pty. Ltd.
Level 1, 26 Castlereagh St
Liverpool  NSW 2200

Tel:  +61 2 8729 5000  
Fax: +61 2 8729 5050
www.atdec.com

Washer Star External 
Tooth M5

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

A4
DWG NO.

DATE:    

DRAWN:         

65 7

SCALE: NTS

SHEET: 1 OF 1

ISSUE DATE REVISION BY

REV A         00.00.00                  

FNH-005-

17/08/2012

pok

-                  -

TITLE:

PART NO:

PROPRIETARY AND CONFIDENTIAL
THIS DOCUMENT REMAINS THE PROPERTY OF ATDEC PTY. LTD.
AND MUST NOT BE COPIED WITHOUT OUR EXPRESS WRITTEN 

PERMISSION AND THE CONTENTS THEREOF MUST NOT BE
IMPARTED TO ANY THIRD PARTY NOR BE USED FOR ANY

UNAUTHORISED PURPOSE.

ALL DIMENSIONS IN MILLIMETRES

DO NOT SCALE

FNH-005

ATDEC Pty. Ltd.
Level 1, 26 Castlereagh St
Liverpool  NSW 2200

Tel:  +61 2 8729 5000  
Fax: +61 2 8729 5050
www.atdec.com

M5 Hex Nut

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

A4
DWG NO.

DATE:    

DRAWN:         

65 7

SCALE: NTS

SHEET: 1 OF 1

ISSUE DATE REVISION BY

REV A         00.00.00                  

FSP-125-

17/08/2012

Richard Turner

-                  -

TITLE:

PART NO:

PROPRIETARY AND CONFIDENTIAL
THIS DOCUMENT REMAINS THE PROPERTY OF ATDEC PTY. LTD.
AND MUST NOT BE COPIED WITHOUT OUR EXPRESS WRITTEN 

PERMISSION AND THE CONTENTS THEREOF MUST NOT BE
IMPARTED TO ANY THIRD PARTY NOR BE USED FOR ANY

UNAUTHORISED PURPOSE.

ALL DIMENSIONS IN MILLIMETRES

DO NOT SCALE

FSP-125

ATDEC Pty. Ltd.
Level 1, 26 Castlereagh St
Liverpool  NSW 2200

Tel:  +61 2 8729 5000  
Fax: +61 2 8729 5050
www.atdec.com

M5x12 CSK Philips Head

1

2
‘CLICK’

M5 x 12mm Screw 
x4

Tools Required: 
Philips head 
Screwdriver

75x75mm

AC-AP-IP23

IMPORTANT INFORMATION

!	 IMPORTANT - Install as per Installation Instructions
!	 Compatible with VESA mounting head with hole configuration of 75 x 75mm (3”x3”).
!	 The Manufacturer accepts no responsibility for incorrect installation.

Check you have received all parts against the Component Checklist.

M5 Nut
x4

iPad® Mount M5 Star Washer
x4

1.Position the iPad® in bottom half of the Mount.

2.Push the iPad® into top half of the Mount and 
press firmly in each corner. 

When you hear each corner CLICK into place 
the iPad® will be secure.

Using a Philips head screwdriver 
thread the M5 screws into the 
M5 nuts through the iPad® Mount 
and Focus Flexistar head.

Using a Philips head screwdriver 
thread the M5 screws into the 
M5 nuts through the iPad® Mount, 
the Spacedec VESA plate
and the M5 Star Washer.


